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2.1. 0O0O0O
2.1.1. 00000 (DO0O0O0O0O0)

00000 G= (VA UODODOUOaeae ADDUOD, 0000 (e)0O0D0OOQOOOOO
I A—-ROOD0OODDOOO0OOUO. 0000000000 0OON=(G=(V,A),)ODO
gobooog.

O 21: GO
\ T. =/ =/
GOoooooo
P: (UOaalavlaa27U27a37”'aa'kka)

k
D000,) le;)0 POOODOOO. 00000 (shortest path problem) 00, 00O

=1

b20w,veVoobod,«0000000000000O000DOO0O0DODODO.
000000000000 p:V—-ROOOODOOO (potential) D OO .



00 2.1 0000oooog p:V—-ROOO, 00 lp:A—>RD
ly(a) =1(a) +p(0Fa) —p(0~a) (2.11)

00000000. NOOOOwO00000000000 POOOO,00101,000
0 POOOOOOOOKP)OL(P)OOOO,

[p(P) = I(P) + p(u) — p(v) (2.12)
00000, 0

o0 22 PO0.000000000000.D00,00000000pV —=ROO0O
00,((21)000000,00000000,00,P00000000 e)=000
ooobo, PODw00000000000.

(00)L,(P)=0000.00000,,00000,0000,,a)>0(eeA)0O000
DwO00000000000 PO00O0OLP)>0000.002100,

1(P) L,(P) — p(u) + p(v)
0 — p(u) + p(v)
l,(P") — p(u) + p(v)
I(P).

IN

ooooo, PO0wb000000000O000O.O

O00000000000,0000,1l(e)>0(eeA),00000000000O0OCOO
gbobogob oobboo.gbob,gbbboil1bbbooobbdooobbaon
gooboo.

Algorithm 1 0000000 (0DODO v,OOO)

Require: 00000000 G=(V,A),0000 I:A—Ry.
Ensure: v 00000000 o00000,00,0000.
1 U« {v}, W0, p(vg) — 0, p(u) — 400 (u €V \ {vo}).
2: U=000000.
doooooo,rvoodooopddoooooooono 1000, 000 wOO
0.0w0O0O00Oa=(w,2)02¢WOOOODODODODODODOODO,000 (*)00
ooo.
() p(&) > p(w) +(w,2) 0 0 0
q(z) — w, p(x) — p(w) + l(w,z),
U« UuU{x}.
3 W—Wu{w}, U—U\{w}0OOO Step2000.

02100000000 GOOOOD/(ODO000ODOO0,00bD00obDOoOobDOooDO
go.
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